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Note :

1. This question paper has 100 questions. Each question carries 2 marks.

2. Read carefully instructions regarding method of answering questions given on the last
page and indicate your answers on the Answer-Sheet provided.

3. Use of any type of calculator or log table and Mobile Phone is prohibited.
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What will be the remainder when

s 17200 3 18 @ FTfid F W ke % ——_
e 2 17" is divided by 18 ?
a) 18 a) 18
| b) 17 b) 17
c) 2 c) 2
d) 1 d) 1
e) SUUH 7 & FI$ e) None of the above
2. 1 AmId ey dearsti Qi 33 2 | 2. Sum of three consecutive odd
gl o gEa @ numbers is 33. The largest number is
a) 9 a) 9
b) 11 b) 11
c) 13 c) 13
d) 15 d) 15
e) IWad § | HIS 7 e) None of the above
3. gl it H 20% i Figae g 91 8 o 3. When rates of oranges were
e T 10 1 5 g1 2119 @ gFar 2| decreased by 20 % then a man can
TF AR A4 [T TR ? | buy 5 more oranges in ¥ 10. What is
2) £0.20 the new cost of one orange ?
a) ¥0.20
b) % 0.40 b) ¥0.40
c) T0.60 c) ¥0.60
d) ¥0.80 d) ¥0.80
e) 3T | & FI I e) None of the above
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T WS 4 R 7 7 frerafify fug o st
1 F I F IW iy '

o TR THEL 1 Wefia o @
- P ftre A wefdfa war
« 0 el I RRia e @
« 1l T Fi H vkl war
4. P i et TR e 2 S vl ¢
—~a) 11
b) 9
c) 5
d) 4
e) ST § A R T

5. 33 faeh Bt it s e

Question numbers 4 © 7 are based on the
diagram given below. Answer these questions.

N

s e lo)m

9 1 14
/5 \

« Rectangle represents males

« Triangle represents educated

- Circle represents urban

- Square represents civil servants

4. How many among the following is an
educated male who are not the urban
resident ?

a) 11

e) None of the above

5. How many among the following is a
female, urban resident and also a civil

a) 6 servant ?
b) 7 a) 6
— ©) 10 tc):; ;,o
d) 13 - d) 13
e) I | ¥ FIE & e) None of the above
6. Fr 11 Q e TR ik el qew it 2 ? 6. How many among the following is
a) 12 e - uneducated and also an urban male ?
b) 11 a) 12
b) 11
c) 3 c) 3
d 2 d) 2
<o) WA % 7 e) None of the above
7. ﬁqﬁ:}ﬁ.—@mw%;ﬁs@ﬁ gEae? 7. How many among the following are
educated male who hails from urban
a) 2 area ?
—b) 4 a) 2
b) 4
c) 5
c) 5
d) 1 d) 11
—__ ©) I N | S T e) None of the above
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8. 10 @1 120 % = ¥ UEt demsit, < 7 - aﬂr:f, o g‘obemf. numbers between 10
& v frfora 2t & e e Fal o divisible by 5 1,27 Completely
T W 1 F S A R, i we the digit 111 ¢ 2 Which consist of
git 1" in any place is
a) 3 a) 3 -
b) 4 b) 4
c) 5 c) 5
d) 6 d) 6
e) 4 4 1§ e . - e) None of these
9. 30,1, ZI?IWI'sfaﬁara}qgaggfaﬁ 9. The sum of all the significant two digit
1 6 Al Hereti (37ehi I g & numbers which are formed by the
Al 2) FH1 AT 2 digits 0, 1 and 2 (repetition of digits
a) 63 7 allc;wed) is
a) 63
b) 9
& b) 91
c) 96 c) 96
d) 99 d) 99
e) ¥4 ¥ IS 7 , e) None of these
10. AR IMTERIaTR ITe R ? 10. One term in the following series is
130, 126, 110, 78, 10 wrong. What is that term ?
a) 78 13;),;826, 110, 78, 10
a
) 710 b) 110
c) 10 . c) 10
d) 130 d) 130
e) 4 & Fig T& e) None of these
11. P,Q R, S, THA SN IFH A b § 11, Whoamong P, Q, R, S, T is in the
FafF I W IFR A AEA T @S B 7 exactly middle while standing in a
) Q, R ¥ aehTel A A 2| line ? .
) T,PsRRFIHAATR - I:) ?,‘S i ‘h: el Mot of R
m Q,Raﬂzs%aﬁmmﬁél ) |-sexacy etween P & R
) Qis exactly between R & S ?
a) P a) P
b) Q b) Q
~¢) R c) R
d S d) S
o) T & Frd Tl - ~©) Noneofthese =
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T T T T 12 X 16 w5 35 g a1
FWE :

A — BUE F @

B — IS T HoI

C o> IaEH

D> Tafee

E— w1 &

Fo Mramsad

12. 7ft sFg @4 . 6,000, 79 g w1 &
Bqom

Study the Pie Chart and answer the
questions 12 - 16 :

A — Printing cost

B — Cost of paper

_ C — Miscellaneous

D — Royalty
E — Advertisement charges

F — Binder's charges

35%

12.  If the Miscellaneous charges are
Rs. 6,000, the advertisement charges

are
a) . 9,000
a) Rs. 9,000
b) %. 27,000
b) Rs. 27,000
c) % 1,333.33
c) Rs. 1,333.33
d) %. 15,000 ~d) Rs. 15,000
e) T & &g T e) None of these
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OB AR
13. uf ourd @1 @l €. 17,500, T TAHR
1 eIl
a) . 7,500
b) %. 40,833.33
¢) % 15,000
d) % 750

e) T A ¥ 7

14. S50 F07 1 AW Rie o % @ W
a) 36°
b) 64.8°
c) 54°
d) 20°
e) T ¥ =3 7

15. T 0 BT & @9 W 3RE T FHEr
& I & H0

a) 25°
b) 44°
c) 90°
d) 54°
e) T | HI3 el

16. afe grqel 3 g1 foramali #1 %, 97,500 2
Rl 30% 3Icured &1 Gl WiE @ a9

T T G 8

13. If the cost of printing is Rs. 17,500,
then the royalty is

a) Rs. 7,500

b) Rs. 40,833.33
¢) Rs. 15,000

d) Rs. 750

8) None of these

14. The central angle of the sector for the
binder's charges is
a) 36°
b) 64.8°
c) 54°
d) 20°
@) None of these

15. The central angle of the cost of
printing is more than that of the cost
of paper by

a) 25°
b) 44°
c) 90°
d) 54°
e) None of these

16. If the total sale of book is Rs, 97,500
including 30% profit on the

production cost then the royalty is

a) . 14,625 a) Rs. 14,625
b) %. 5,000 b) Rs. 5,000
c) %. 6,500 c) Rs. 6,500
d) & 15,250 d) Rs. 15,250
e) T | F1 T e) None of these
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17. fafafaa ¥ §
fadiwar g ?

a) TRV F (UTeh) =)

b) 1 | F g afy ; 3
g w6 SR

% I &~

) 319 0 R 7 i
e) I A I 7

18. SISl TR HER et ¥ w2
14y |
~ a) ﬁﬁﬁaavﬁ{m
b) &HT | |
c)'{mzl
d) deET
e) =Ah

BT ey g A

19. IIafFRTS S
a) YRreror gro Iufela it <1 @Rt
b) et el AT 2
¢) Iurifa 3R SATgaiie 31 8
d) it sifa ofR it ST 8 €
e) T A FIE T
20, T Gira i 3reS Faaaiadeh dTel IH
SafRre ) Sfrargaeha 8 Hifh
a) 3 arfire IeTreAeRT B 8
b) ¥ worEeit &1 QU G
0) A a1 wH F Wy TR AR
T@d 2
d) S aft
e) 378 ¥ HNg &

T gt &l «

17.  Which of the following is characteristics
of effective communication ?

a) to respond immediate to the
receiver

b) to inform the matter in minimum
cost and minimum time

¢) to transmit the right information
at the right time to the right person

d) tounderstand the clues given by
the sender

e) none of these

18. For effective interpersonal
communication one must not be
a) Specific
b) Timely
c) Clear
d) Valid

e) General

19. Interpersonal skills
a) can be acquired by training
b) are inherited in nature

c) can be both acquired and
inherited -

d) canbe sometimes acquired and
sometimes inherited

e) none of these

20. Peoplewith good interpersonal skills
are required in an organisation because

a) They are more productive

b) They look for solutions to
problems

) They have positive attitude
towards their work

d) All of the above
e) None of these

CGP-17-02 A
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21, fadre Qg ) dhima amel) wer ) wft au

qftorft <Al =hY QEIRT 10 % et féa 7t
ar erfam aﬁwmm‘ﬁﬁaﬁ
yferera gnft 7
a) 10 % il &
b) 30 %
~C) 45%
d) 65 %-
e) IWF § § #$ 7

22. A, B 3 C T @1y frea 18 R &
2,700 ¥ HAW ¥, A ok C fieE
10T ¥ 940 "R FaR €, B 3l C firerae
20fA 1,520 v R TR E, A CcH
fe drwmd gt

a) 20 %.
b) 40+%.
c) 10%.
d) 70%
o) Suiaa § @ i 7
23. T Jfad qd Hit e & 7 fon . werar @

fo €9 7o W geam 3 .. e @
fo e g g 11 T, wrerar @)

1. The price of a cricket bat is reduced
by half and the resulting price is again

reduced by 10 %. What percentage
of the original price is the final price ?

a) 10%
b) 30 %
C) 45 %
d) 65 %

e) None of the above

22. A,BandC togethér earn Rs. 2,700
in 18 days, A and C together earn
Rs. 940 in 10 days, B and C together
earn Rs. 1,520 in 20 days. Then the
daily earning of C is

a) Rs. 20
b) Rs. 40
c) Rs. 10
d) Rs. 70

e) None of the above

23. A man walks 7 km eastwards, turns
rightand walks 3 km and further tums
right and walks 11 km. How far is he

3 9% T & WH | fhaft R 7 from the starting point 7
a) 8 fa. 4. a) 8km
b) 3 fk.af. b) 3km
c) 6 Te.ui. c) 6km
— d) 5 f&.H. d) 5km
e) T q &3 &l e) None of these
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ﬁéﬂimz4'—28:

o) | 37T Il STl €
d) a1 31 Il sgmfae €
g) 717 1l Irgwntaa &

S0 o
A) H‘ﬁwas%%l
B) ¢ Tl T A1
et
) 1 B Hfea T 2 e
) Emﬁaﬁéaﬁ?‘é’f%l %

25. @y |
A) ) S e T
aun ey &)
B) wft wfedt g e €l
o
) B et g T
— ) TR e s FE R T

)

Directions : Questions 24 — 28 -

Statements A/B are given for the following
conclusions. Examine the logical

application of the conclusions and decide

which of the answers is correct 7

25.

Only lis inferre;d

Only Il is inferred

Both | and Il are inferred
Either | or Il is ihferred

Neither | nor Il is inferred

Statement# :
A) All students are boys.
B) No boy is dull.
Conclusions :
l) No studént is dull.

Il) There are no girls in the class.

Statements :

A) All employees except one or two

are slow and inactive.

B) All employees are old man.

Conclusions :

) Some employees are efficient.

) Some old man are good
employees,

CGP - 17 _02 A
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26. =y ;
A) T weiral e )
B) i wrrere e &)
Freag .
) Tt v gt e 1
1) mewél o

27. /YT
?ﬁﬂmmﬁmmmﬁm
|
e :
) B Tamgat ufim § yafe
]
) s sarat ofem § vohe
T TE R
28. &®YT :

o IR § 5 gH W e amge §) af

3 ot | TS €
Trend :
) $O IHA W GEAIS 8
) F8 Ml | Fam wmge 7= 2

29. 5o ud # ng 4:20 ? 7@ fome arelt g3

o6. Statements:
A) Some girls are pilots.
B) Al pilots are efficient.
Conclusions :
) All male pilots are efficient.

Il) All girl pilots are efficient.

27. Statement:

Homeopathic medicines are now
popular only in India.

Conclusions :

) Homeopathic medicines are
popular in the West.

I) Homeopathic medicines are not
popular in the West.

28. Statement:

Few shops in the market have neon
lights but they all have signboards.

Conclusions :

) Some shops have signboards.
l) Some shops have no neon lights.

29. The angle between the minute hand

YT 52 areft g3 o sfie Hio g and the hour hand of a clock, when
the time is 4:20 is
a) 0°
a) 0°

—b) 10° b) 10°

C) 5% c) 5°

d) 20° d) 20°

e) Ik | A 1§ T e) None of the above

Page No. 12  SetB

CGP-17-02 A

Scanned by CamScanner



L

T HEAT 30 34 % Ry fréw . Direction for Q. No. 30t0 34 -
oA S B T | sy £ = In each question there is a problem in the
S Fyofr o) y e form of decision-making followed by two
M MRS B The = courses of action numbered | and Il Give
et I A{ARE your correct answer from the following.
a) AR Fad | AR a) Ifonly | follows
b) af et Il g gy b) If only Il follows
c) A I ARH ~¢) Ifeitherlor Il follows
d aIRTITNAMH d) If neither I nor Il follows
e) A 1T Il Am R ¢) Ifboth I and Il follows
30. UA: 30. Statement:
AT < SR B H 54 @ 7T g Y Many villages face flood fury every
U 6T AHAT Fd B year in the monsoon.
HEATE Courses of Action :
) §9F &d AN SR T @l ) Timely evacuation of the people
T AEwEE R is necessary.
_ ) 91g it Fafa o & o sar =y ) The government should take
A T AR STTvE HRETR measures to control floods by
T1fe) | building dams etc.
31. ®YA ; 31. Statement:
qferd M a1eH Y Ya1fsd et § | The police harass the comrnor: man.
HHIETE Courses of Action:
— ) TR FI <t gfergare & fae ) The government should take firm
| steps against the erring
FSH heH I wMET policeman.
— ) gfer Tt Pt AT & SRR A & ) The police force should be
ford frféra s =nfed) educated for public dealing.
32. weT ¢ 32. Statement:
ATm @ e Tﬂ"ﬁ £ Tawa T The younger people do not look after
. their elders.
1 2
wraT Courses of Action :
1) T e e =ned| ) Legal action should be taken.
) FEmm @ 9| Il) Old age homes should be opened.
M
CGP-17-02 5
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33. U :
T 30 e wl—ar ¥ Rl A d |
wEATE

) TRe ey g 38 T B1e
TR |
Fﬁamf«ﬁﬁ%ﬁm@ﬁaﬁm

33.

34, wUT : - , 34.

SR Fell <t ate ¥ i Idre o
&t 37T 2

aada‘reﬁ:

l) SATIR GEt 9T gfdery o anfed)

Il) 3fr=nfirer SepTeal & AN T SrTeTd
et o =l |

35. f=fafaa aofi 35,

TSI
11,13,17,19,23,2,2,,

# 3 foga a@m (7, 7)

Statement :

School uniform is a burden on the
poor parents.
Courses of Action :

) Poor parents should stop buying
school uniform.

l) Schools can provide subsidy on
school uniforms.

Statement :

Trade unions slow down the
industrial production.

Courses of Action :
) Trade unions should be banned.

Il) Industry should employ persons
on temporary basis.

The two missing numbers ('7 ?)inthe
following series
11,13,17,19,23, 7, ?

are respectively

a) 27 741 29 a) 27 and 29
b) 31 4T 33 b) 31 and 33
c) 31 qa1 35 c) 31 and 35
d) 29 =T 31 d) 29and 31
_e) T 4 =g Tl e) None of these
3g. ﬁmﬁ«]ﬁgan}vﬁ L 36. The missing number (?) in the
® L . .
1" 7 20, 12, .538, 27442, following series
Y == A
DA ﬁ'@?f@@ﬂ(? % 11,7,20,12,38, 7,74, 42 is
7 a) 32
5 @) 32 g
b) 28 2L b) 28
-
C) 26 t C) 26
d) 24 d) 24
4)?4& A FrE T e) None of these
CGP -17-02 A : Page No. 14 Set-B
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a7, af aw afeE § .
aall ey :Sﬁswﬁm(;g:;
@%mﬁamimﬁmwﬁqzﬁ
o 1 ST et & | 3 ot o
AR 12.00 RF Fht 2, R syt o5
) ST U TN o i) 7

9 20AM (YO O
b) 7.30 PM

c¢) 10.30 AM

d) 10.30 PM

o) T ¥ g T

38. \I17+\/55+«[69+\/133+«/ﬁ

37. Ifthereare four clocks, one ticks after
every 30 minutes, second one ticks
after every 45 minutes, third one ticks
after every 1 hour and 45 minutes
and fourth one ticks after every 15
minutes. They all ticked together at
exactly 12 noon. Then when will they

" tick together next time ?
a) 9.00 AM
b) 7.30 PM
c) 10.30 AM
d) 10.30 PM

e) None of these

38. Value of \ﬁ 7+ \E5+ J69+133+-121

A R is
a) 6 a) 6
b) 7 b) 7
c) 8 c) 8
d) 5 d 5
e) 3T | g el e) None of these
%, o 9 Zi-"(;(;?f _o7 W@ so. 1t TXEXCD®_ oy e
x (81) value
IR of nis
a) 0 a) 0
b) 2 b) 2
c) 3 c) 3
d) 4 d) 4
e wHaFR €) None of these
CGP-17-02 A Page No. 15
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The ability to and manage the

. ae . x 8 40.
40, . 'v.;gzﬁ # L ﬁaﬁmi motivations, emotions and behaviour
: ¥ b an A3, ’ of oneself and others results in
i ’ effective interpersonal skills.
8) Fewr a) command
b) i b) read
c) A c) write
d) I=A d) speak
e) IRT 1 A T T e) none of the above
41. Fafrfaa 8 @ < s g g 41. Which of the following statement is
%qu_ﬁ% 2 not correct about communication
' process ?
a) T T Tiaefier wiswn @ a) ltis a dynamic process
b) =8 = e wirm 2 b) Itis a static process
C) TSN et Tl wedmw § c) Feedback is possible in two-way
g 2 communication
) d) Message is the part of
d) Hew HEor Sfsea A R communication process
e) S ¥ TS I e) None of these
42, 9 ¥ | 1 GO v | S19E 6 R 2 42. Which of the following is not a
communication barrier ?
%) . ) a) Emotionality
- b) ferern b) Conciseness
c) Hifta wrsaraett c) Limited vocabulary
d) aftssi &1 93 d) Fear of superiors
e) {1 frRaT e) Information overload
43. THU ! GAJ THA T I8 el HTT AR 43.  While listening to others one should
h not
a) I AT |
. a) Respond
b) HawT T ATHH b) Evaluate the message
c) & 1 8 W Ramn c) Nod or shake head
d) Gowr I AT - d) Interpret the message
____—e) ga il g e e) Make quick reaction
CGP-17-02 A Page No. 16 Set-B
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44, AR 3% = (89)" aix (10)%=o.ooo1
q@ 27° (16)° &1 ww w=n €y 9
a) 16
b) 4
3
1

Q

)
d)
e) Suer H | g 7l

45, =1 3ot § ST ue R

LG &6, 15,27,

e T a) 37
5?0
b) 44
3%
ne \ c) 48
3/
by d) 55
. @) IWE § § H13 e

46. T FHl 1 T 864 T SR AT 4% 1
THEH 33T R | 16% F1 AW M & feg

| !
44. I 3% = (8™ and (10)b =0.0001,

then what will be the value of
27 (16)° 7

6

o o
N

1
4
3

Q

e

d) 1
e) None qf the above

45, The nextterm of the following series is
1, 3, 4, 8, 15, 27, ...

a) 37
b) 44
C) 48
d) 55
e) None of the above

46. On selling a chair for X 864, Anil
incurs a loss of 4%. At what price

39 FEt = | 7e W =1 =RRT 2 should he sell the chair to get a profit
of 16% ?
a) 864 2) 864
b) 1044 b) 1044
c) 1235 c) 1235
d) 1425 d) 1425
e) IEa H° CIEE ] e) None of the above
Jx X _q
47. 7R _3/0.008 @& x 1 °H 2 47. If - 3/0.008 , then the value
0.0064 0.0064
a) ‘0.256 alxis
a) 0.256
b) 0.0256 b) 0.0256
c) 0.00256 c) 0.00256
d) 0.000256 d) 0.000256
e) 3q0Ed 3 & F e e) None of the above
CGP-17-02 A Page No. 17 Set-E
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3w : w489 51 % fmr

Pt s =nd a1 sreerr it st o wEE A

AW 3 = i gt R S et e 3w AR
o3a B =g

T
- 60 60
4 16 K
0 . [ 7
#Hr 50 4 5 L
¢ 10 40 . 40
=1 35
30 30 30
20

40 4
30 4+
W 20 4
10 +

2000 2001 2002 2003 2004
a.& >
48. a9 2001 TF 2002 ¥ &9 &9 FT =N
frame ?
— a) T 109’
b) ¥ 209@
c) ¥ 2599

d) I
e) IWEd # 8 g T

49. forad a9t ® 0 i g oNEg o ¥
arferes W e ?

pirections : Questions 48 to 51 :

study the following bar chart, which
represents the income and expenditure of
a company and answer the questions.

Oincome HEExpenditure
”™ E
60 60
a2 :g 50
_‘_.: ol 40 ‘ 40 -

30 30 30

o 0T Meo
20 4+
10-. %
0

2000 2001 2002 2003 2004

Year
48. What is the difference of profit
between the years 2001 and 2002 ?
a) ¥ 10 Lacs
b) ¥ 20 Lacs
c) ¥ 25 Lacs
d) Zero
e) None of the above

49. In how many years the income of
company is more than the average

income ?
a) | a) 1
—b) 2 i
c) 3 o) 3
d) 4 d) 4
e) ITad | § HI3 T e) None of the above
50. FFI1 o1 @ TR 9§ waifee gom ? 50. In which year company has got
a) 2001 maximum profit ?
b) 2002 a) 2001
) 'b) 2002
/c) 2003 c) 2003
d) 2004 d) 2004
e) ITE H | FIg 781 e) None of the above
CGP -17-02 A Page No. 18 Set-B
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51. ad 2002 1 HFf it 3 g o4 ¥ @ 51. In which year the expenditure of
& S g 7 company is equal to income of year,
a) 2000 20027
b) 2001 8) 2200
200 b) 2001
%).2002 ¢) 2002
: . el
e) 3Tad | | E T e) None of the above "
52. Th ASH! AT M | Tl }| 97 Tea 52. Agirlleaves from her home. She first
30 Hl. IT-uftem & =erelt ® o a5 30 1. walk 30 meters in North-West
fau-ufeem § wadt R qervama, a direction and then 30.meters in
<for-gd e # 30 . = {1 o South-West direction. Next, §he vyalk
g8 394 W FH T Tl ¥ e g 39 meters in South-East direction.
: Finally, she turns towards her home.
Faa @ e ? T = : ;
In which direction is she moving ?
a) I -z a) North — West
'b) IR b) North — East
¢) sfaur-gdf c) South — East
d) f&ror-afyem d) South—West
e) T | I3 gl e) None of these
53. i fom § A ot arfteran 2 7 53.  Which one of the following fraction
1.3 4 1 2 .is the greatest ?
810" 20" 6" 20 18 4 1 2
’ 8 10" 20’ 6’ 20
a) -
8 a) 1
8
b) < 1
b) 5
4
L 4
° 2 ° 2
2 2
9 2 9 %
e) ST § ¥ 3 T e) None of the above
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A0

Y 54 — 58 & o
A, B, C @ D & 9T a7 & ar ga&ul
T e aforem & feu o | Rt T

&R Sfd 1000 69 7o Sy 1000 wikenat

<1 W ST T&A @ |

P

qraw | 20122013

2014 | 2015

2016

TN | 730 | 772

803

809

837

A

Afgemd | 642 | 705

778

793

For Q. 54 - 58 : Given below is the Survey
record of areas A, B, C and D for five years
each area having one thousand men anqg
one thousand women. The record shows
the number of literate men and women in
each area.

—

Areas | Literates | 2012 | 2013 | 2014 {2015 | 2018
B MEN | 739 | 772 | 803 | B09 | 837
A —

WOMEN | 642 | 705 | 778 | 782 | 793

—

I | 847 | 859

876

883

895

nfeard | 709 | 734

821

851

MEN 847 | 859 | 876 | 883 | 895

9 838 | 868

894

915

935

afged | 824 | 813

869

876

908

Y | 916 | 931

947

963

983

afgamd | ses | oos

852

917

928

3 WOMEN | 709 | 734 | 821 | 845 | 851
MEN. | 838 | 868 | 894 | 915 | 935
% WOMEN | 824 | 813 | 869 | 876 | 908
MEN 916 | 931 | 947 | 963 | 983
D

WOMEN | 885 | 908 | 852 | 917 | 928

54. & A afeesdi i sivaa areran vl
FL?

a) 72%

- b) 73%

c) 74%
d) 70% _
e) T O Hi3 e

55. 20124 2013 i graral ufawd §

54. What percent of women of area A are

literate in average ?
a) 72%
b) 73%
C) 74%
d) 70%

e) None of these

55. What is the difference in literacy

frar a2 7 percentage of 2012 and 2013
a) 4.9 approximately ?
a) 4.9
P83 b) 8.3
c) 6.5 0 6.5
d) 2.4 d) 2.4
) @ I T e) None of these

cGP -17-02 A
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56. IR &1 # T T a6t f oy i fad 56. What percent of men and women in
giawra I8 e nfieerd wmam 9 7 the four areas were literate during
a) 88.84 : these five years ?
b) 84.88 a) 88.84
b) 84.88
©).80.88 c) 80.88
d) 86.12 d) 86.12
e) ¥ Q Fig T e) None of these
57. e faa wftera gow wem @ ? 57. What percentage of men are literate
a) 87.55 in average ?
b) 55.87 a) 87.55
c) 87.87 Bj D901
c) 87.87
d) 85.55 d) 85.55
e) T ¥ &g T e) None of these
58. fohm & # qow 9 wigemeti Ht warar 58. In which area has the literacy rate of
sl AR st R ? men and women increased the most ?
a) B a) B
b) D b) D
c) A c) A
d C d C
e) T | I3 el ~e) None of these
59. frafefaa wer # R mn @fiF@ @ | 59, In the following question, the given
Rl % aradiEds ST e &) SRl equation will become correct after
e T ﬂe‘ | interchanging two symbols. Choose the
5 +(3 x8\-(12+ 4 = 3 (W¥iaHwI) Sofrectopuion.
o . . 5+3x8-12+4 =3 (equation)
)+ g paaetia-ts o <s
b) +9 + / '
)+ sH{2h)- 4 b) +8&
¢) +3- c) +8&-
d) -9 x d) - and x
e) FHABE T e) None of these
CGP -17-02 A Page No. 21 5 Set-B
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¥ 60 - 64 * foru .
N e i e W & 100 ot ¥ o
aferen & 23§ SR F I Bl I |

For question from 60 — 64.

study the table of 100 students based on
the marks by them in physics and chemistry,
answer the questions.

Marks .
out of} 40 and |30 and |20 and |10 and [0 and
50| Above | Above | Above | Above | Above

37 50 .
§ |0 3 [30 3tk |20 ok |10 3tk [0 otk
IR | R | o | s |
e
}, vt .
- 9 | 82 | 80 | 92 | 100
ST 4 21 | 66 | 81 | 100
atea 7 27 | 73 | 87 | 100

60. TR 40% & FW 37k T F TRt BT
a) 13
Y )19
‘“fc) 20
d) 27
e) 379 | i3 e

61. sitfims wme § 60% 31k I=9 o g
I 2, fra o ifas e d 3=

Subject

Physics 9 32 80 2 | 100
Chemistry] 4 21 66 a1 100
Average 7 27 73 87 100

60. The number of students scoring less
than 40% marks in average is
a) 13
b) 19
c) 20
d) 27

e) None of these

61. If at least 60% marks in physics are

required for Pursuing higher studies in
physics, how many student will pe

iy eligible to pursue higher studies in
a) 27 physics ?
b) 32 a) 27
b) 32°
c) 34 o) 34
d) 41 d) 41
e) S0 4 ®I§ el ] 8) None of these
-CGP-17-02 A Page No. 22 \\SETE
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¥ | TR A e 2 2 o
30 3d W Il 2 € 7

a) 3

b) 4

c) 5

d) 6

e) T § FIs e

63. BT hl HEA Fhe TRTd Y F7 3 =g
60% e THIE WA § It & & opeqy

3T ST 3TEd 40% T e § |
a) 21%
b) 27%
C) 29%
d) 31%
e) T A 1S el

64. WRH WA § Reqifom &g 23 BE1 AE

B | 79 e e 8 Fean sie Redifsem
o Ay &g T v # 2

a) 40 - 50

b) 30 - 40

c) 20-30

d) 20 ¥ FH

e) T | HS e

65. fem? & y = x2 + 6x + 15, y T I
HH

a) 10}
b) 12%
c) 153
o) Freree e foperr s werat

®) T § s 7
CGP-17_°2A

62. What is the difference between

63.

64.

65.

number of students passed with 30 as .
cut-off marks in chemistry and those
passed with 30 as cut-off marks in

- average ?

a) 3
b) 4
c)5
"d) 6
e) None of these

The percentage of number of
students getting at least 60% marks
in chemistry over those getting at
least 40% marks in average

a) 21%

b) 27%

c) 29%

d) 31%

e) None of these

23 Students were eligible for a

symposium in chemistry the
minimum qualifying marks in
chemistry for eligible for symposiums
would be in the range

a) 40 -50
b) 30 -40
c) 20-30
d) Below 20 :

- €) None of these

Given that y = x2 + 6x + 15 minimum
value of y

a) is 10

b) is 12

c) is 15

d) Can not be determined
€) None of these

Page No. 23
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g6. The missing number in place of A is
66. A ¥ TWH W T wem ®

. 5] 24
T al 4|7
5 3
“helela L
18130 | A-
a) 42 a) 42
b) 43 ' b) 43
c) 32 c) 32
) d) 33 d) 33
e) T A i Tl e) None of these

67. Correct option for X is

a) 10 a) 10

b) 15 | b) 15

c) 32 c) 32

d) 12 ‘ d) 12

e) Tl @ =S e) None of these
68. 31 2001 # foha-fohg e i gaam 68. On what dates in April 2001  giq

qr1 7 Wednesday fall ?

a) Th, 313, TS, 9159, I=fw a) 1%, 8™, 15t 2ond ogth

b) 2, , wiew, adw, dw b) 29, 9", 16th, 23rd g

c) SR, |NE, 3T, T= c) 4th, 11th 1gth >eth

d) , <4, w8, | d) 39, 101, 17th o4th

e) ITNF # ¥ F1g e e) None of the aboye
‘CGP-17-02 A Page No. 24 Sei B
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69. faU T et ot 3 Pt it s et 2 2

a) 5
b) 6
‘c) 8
d) 10
e) IWFd & ¥ F13 7

N\,

70. T fE A X F1 A @

() ()

a) 2031

b) 731

c) 1625

a1

e) I § ¥ IS T

7. TR EshdRREmAEE:
6 . 5

2 1

mzﬁé%yﬁémaﬁwﬁﬁ@mﬁﬁ?
— a) 1

b) 3

c) 4

d) 6 |

e) IWiTd § § FE Tl

69. How many triangles are there in the
figures given below ?

A

a) 5
b) 6
c) 8
d) 10
e) None of the above

70. The value of X inthe following figure is

@ ()

a) 2031

b) 731

c) 1625

d) 1

e) None of the above

71. Two position of a block are shown below :
6 5

2 1

When 2 is at the bottom, which
number will be at the top ?

a) 1

b) 3

c) 4

d) 6

e) None of the above

TTe——
CGP—17__02A
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tions 7210 76 :
N 72 76 3 R« ot =i
) g N pirections : In the following question, the
i ﬁg‘;ﬁ"ﬁﬂﬁm ¥ @,0, $, % a1 :; symbols @, ©; $, % and # are used with the
ﬁt{g SiED 9§y g e ) e 3 following meanings as illustrated below :

:E “A $ B" means ‘A is not smaller than B’;
“A$B wad R; A BA DRl “p © B”tmeans ‘A is neither smaller than
‘A OB wIHA BATR SR StAmg | NOf greater than B
. oy “A @ B" means ‘A is neither smaller than

A@%B aﬂanf%, A,B'Q:I?‘h'm%,q nor equal to B’ ; .
il ! “A # B” means ‘A is not greater than B’ ;
A # B w1314 §; A, B8 wer el R “A % B” means ‘A is neither greater than
“A%B ®deg; ABaATR TR, A9 nor equal to B’'. .
TR R ' Now, in each of the followin? ?u%stltons.
e : assuming the given statements to be true,
:%am Wﬁ? %m o foa Tt e wew @ find which of the three conclusions |, Il and
aﬁﬁll?ﬂq Fremd |, naem A awR Il given below them is/are definitely true
T &9 & T B/, qegew s iR | and give answer accordingly.
72. ®HYF ; @'@ - 72. Statements:
~ L
KGP, P@Q, Q$R 14490 KOP, P@Q, Q$R
et Conclusions :
Il K@R L K@R
. R%P . R%P
. Q%K M. Q%K
a) Fad |9 IIH?H? a) Only land Il are true
b) %aet Il T Il g7 & b) Only Il and Iil are true
c) %ad lll g & c) Only lllis true
d) asfi a9 € d) All are true
e) T | H13 -e) None of these
73. YA : 73. Statements:
DOK, K#F, F@P DOK, K#F, F@ P
fArend . Conclusions :
.l P@D L P@D
I K#P I K#P
. F$D . F$D
a) ¥t | g a) Only | is true
b) %ad Il §e b) Only Ilis true
c) Fad Il a2 c) Only lll is true
d) ¥eet I @@ Nl e € d) Only lland Il are trye
e) 3 & =3 TE e) None of these
N
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74. /YA :

M@D, DoV, V$W
. We@M
Il. M%V
. D$W
a) &ae |l a1 Il T ¥
b) %aet Il or
c) sad lll g ?
d) Feel | g}
e) T A =S T

75, YA ;

M@J,J$T,T©N
ﬁ'ﬁﬁﬁf:

74. Statements :

M@D, DoV, vVv$w -~ =v
Conclusions :

LWeMm

. M%V

. D$W

a) Only Il and lll are true
b) Only Il is true

c) Only Il is true

d) Onlylis true

e) None of these

a2

75. Statements:
M@eJ J $T, TON
Conclusions :

. N#J L N#J
. T%M . T%M
. M@N . M@N
a) FaoT | T B a) Only lis true -
b) Fae | 49T 1 9 & b) Only | and Il are true
c) asfi aa & c) All are true
d) Fad llwd g @ d) Only Il and Il are true
e) 3 | I T e) None of these
76. &HAT : 76. Statements:

H%J, J ON, N@R H%J, JON, N@R

Fyeere ' Conclusions :
. R%J . R%J
L H@J LH@J
. N@ H . N@H
a) Fad |9 Kk a) Onlyland Il are true
b) ¥aet |5 HIEAE b) Only I and Ill are true
c) FaAll Kk c) Only Il and il are true
d) efi g € d) All are true

: e) None of these -
e) T § wIg 78 ' ~
P17 02 a page No. 27 SetB
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77. 3R INK =1 %rs QF411 ® @1 RED F1
. #1S 18543, A PEN 1 e @i

—a) 16514 |c<ig
b) 14176
c) 14562
d) 151614

e) S § & F1§ e

1111
78. 22,33 88 qon 9° WU e 9Q T
1 .
a) 9° '

d) 22
e) I A | I3 Tal %

79. 7 gl x, y 2R z %1 3fgd xy B

7. IfINKis coded as 91411 and RED is
coded as 1854, then PEN will be

coded as
a) 16514
b) 14176
c) 14562

d) 151614

e) None of the above

78. The greatest number amongst

©| -

.
,88 and 9% is

N
L & 8 wmi-
W (o] {a) W
= W= = ©—= Wl

o
N
»

e) None of the above

79. The average of three numbers x, y

7 JUS BT » =} and zis xy. Then z is equal to
S |
—a) 3xy—-x-y a) 3xy -x-y
b) xy-x-y b) xy—x-y
C) Ixy+x+Yy C) Xy +X+y
d) 3xy - (x-Y) d) 3xy - (x-y)
e) SWiad | | HI§ 7l e) None of the above
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80. fdt I i 4 it 80. There are four hotels in a town. 3men
m?;ﬁg 22;13 I;:,Tﬁqﬁ 5 et check into hotels in a day. In how
% Fray e O S m 89 e many ways all of them can check into
different hotels ?
a) 9 a) 9
ol 1 b) 12
c) 24 c) 24
d) 27 d) 27
e) 3 A w15 T e) None of these
81. T Afted § 53 ‘AW Wi w1 ¥ 81. In how many ways a leap year can
frat aik S Thd @ 7 have 53 ‘Friday’ ?
a) 53 a) 53
b) 2 b) 2
c) 1 c) 1
d) 0 d) 0
e) ¥ ¥ =3 T e) None of these
82. Huft it Yea &A1 Ul Hifsr | 82. Insert the missing number of the
o (-2 T series.
165, 195, 255, 285, 345, (?)
a) 453 b 165, 195, 255, 285, 345, (?)
b) 455 a) 453
b) 455
- d) 375 d) 375
e) T A wIS &I e) None of these
g3, Pieifrfaa § @ #eer, s @ sem e (IR 83. Which of the following is different (if
2 a‘r) ? | any) from the other ?
et fre — T, IREER — %Eﬂaﬁf Red Fort — Agra, Charminar —
SRR 277 ferll — greis, fed 3 3foean. Hyderabad, Jahangir Art Gallery —
— 7% foeehl, TvmmEt Yo — g0 Mumbai, Gateway of India — New
.. Y — Delhi, Aghakhan Palace — Pune.
a) St K a) Jahangir Art Gallery — Mumbai
b) et | l' i b) Red Fort— Agra
c) I Yot — kil c) Aghakhan Palace — Pune
d) fed i sfoean — 73 feeedt d) Gateway of India — New Delhi
g) T @ I3 T e) None of these
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84. T 1 el o st o) vt o) el
1 AT FHET TR 7
a) T
b) firm
c) Tsb
d) frt
e) T & g et

85. TEfETEt e H “‘wigd’’ il wea ¥ 7
a) S
b) st i wrorer
c) i

d) T
e) T &+ 7

86. ufd gr1 wmft M A8 T FEed -

BUIGG! AT H 7
a) YR
b) fegent
c) B
d) rermdt
e) T @ =I5 7l

87. ‘it &a1 i wieat TR U B R
&1 319 B

88. “TRIH’ 1 waiaaTet 7 2
a) 9rig
b) frafie
C) e
d) YT
e) ¥4 § &15 &l

89. ‘Wgeet’ w1 faciim wee B
a) e
b) ek
c) 3@

~d) foue
e) ¥ & FI TEl

90. ‘favmer’ foRd hEd € 7
a) GEree &
b) f&<t & it wpw St
c) & & il v AR N
d) TH B Y & F iy areht s
&) T A 9 7]

91. 1 351 N ugE ¥ T A

a) R 1 el TR T foreran 21 ) mﬁ%
b) aitem #1 %t e firera 21 b) el
¢) TRem 1 e Fuft-ft fiverar 21 0) TR
d) afem =1 vt v @ Frera 21 d) $hama
e) T ¥ % 7| e) ¥ 4 = 78
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92. ‘gl we gR Riw’ fora et @ i B 7
a) Al aduHeR
b) "am=r wieswswTa
c) 1qul Wi
d) ot srfersyenrar
e) YUl scehTat

93. ‘W&R’ g # wiAET UG 7
a4
b) T
C) &R
d) 9

e) T ¥ 13 T

94. f=fafed & @ wiaT wee ‘sHfFaars
ayr Adie ?
a) 9HRe
b) TSHER
c) R
d) <<te
e) 3™ ¥ I3 T

95. ‘SH3WT HHHHI IR ® 7
a) o
b) 3e <
c) T
d) ar3an
e) SH

96. ?ﬂﬁiﬁaﬁ@rmwﬁwm
?

97. ‘SN0 @ FA B AT F 0 WdE

d) el e
e) T & =id 7

100. 'AT@ F 319 iz F R’ AR F1 G
aref 3

a) Tl % foeg 7w =1 B

a) a8
) S b) e ae i Fle w1 3 8
c) adi ¢) T@ wAEH
d) gmd d) < gl
&) T ¢) T & P 7
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INSTRUCTIONS REGARDING METHOD
OF ANSWERING QUESTIONS

(Please use Black Ball Point Pen Only)

1. Method of Marking Answer :

To give an answer, please darken
one bubble out of the given five, in
the OMR Answer Sheet against that
question.

2. Valuation Procedure :

There are five answers to a question,
only one of them is correct/nearly
correct. 02 marks will be awarded for
each correct/nearly correct answer
and Y3 mark will be deducted for
each wrong answer. |f more thanone
bubble are darkened fora question, it
will be treated as wrong answer.

Invigilator :

(i) Please ensure that all the entries in
the Answer Sheet are filled up
properly i.e. Name, Roll No.,
Signature, Question Booklet No.
etc.

(ii) Before the limitation of 2 Hours
duration while leaving the
examination hall, hand over the
question paper to the invigilator. If
needed, after duration of period,
you can ask for your question
paper - from the Centre

Superintendent.

4. CareinHandling the Answer Sheet:
While using Answer Sheet adequate
care should be taken about tear or
spoil due to folds or wrinkles.

Handing over of Answer Sheetto. _

T & T EY mewf fE

(FIT HTR T uizve U 1 A TE FA)

1. IW A =1 adw
IW A F 5 st w9.a1R. I g 3
TEfRq e 3 o § fed T e e |
¥ Fefel U Tl 1 G FHISAT HIC, |

2. Yoqieha ugfd :
% gy ¥ uig grafad 3 2, 39
¥ UF I GE /AN GEl & | U F
T /T | IR 3iTha F4 F 02 35
T g 991 TTed I TR wE W
Y4 3% i ST | af o & e e
et o SITd 2 91 31 TTerd IO AT S |

3. IW-Y¥ite e =t 9= ;

-

() dias F1 -3z givd F 724
ghfvd = & &5 sw-vie & 9=
gea3t Wt gffai S am, de-Te,
TER, T~ w7 =, e
fruife = W dw-Fm s 3

(i) 29w T dm F o v a
BISd WA W -1 Fiwrw F urg
F | AR ST gan o wwa o &
RN g Lo B e AR—
WIS S ESHA ¢ |

4. IW-¥iE & Iuqr & Traer

m-sﬂzmmmm@mg
A 6 | R B, Hre 41 meme
TR EE AT E |
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